Matehing Contraciions

could not

should not

I will

is not

should have

could have

they are

was not

there is

they will

Can you match the words below to their contractions?

>

I'u

they're

couldn't

should’'ve

wasn't

shouldn't

isn't

they'll

could’ve

there's
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Matching Contractions Answers

could not C ® '
should not C (O they're
I will C O couldn't
is not C O should’ve
p
should have C ( O wasn’t
could have C shouldn’t
they are C D) isn't
was not C ® they'll
there is C O could’ve
they will C O there’s
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